
■ つぎのわり算を暗算でしましょう。

① 124 ÷ 2 ＝ ⑪ 624 ÷ 8 =

② 915 ÷ 5 ＝ ⑫ 771 ÷ 3 =

③ 434 ÷ 7 ＝ ⑬ 595 ÷ 5 =

④ 944 ÷ 8 ＝ ⑭ 388 ÷ 4 =

⑤ 438 ÷ 6 ＝ ⑮ 612 ÷ 4 =

⑥ 148 ÷ 4 ＝ ⑯ 963 ÷ 3 =

⑦ 116 ÷ 2 ＝ ⑰ 772 ÷ 4 =

⑧ 352 ÷ 4 ＝ ⑱ 620 ÷ 5 =

⑨ 475 ÷ 5 ＝ ⑲ 489 ÷ 3 =

⑩ 110 ÷ 5 ＝ ⑳ 930 ÷ 2 =

(3けた)÷(1けた)の暗算
年 組 名前
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■ つぎのわり算を暗算でしましょう。

① 124 ÷ 2 ＝ 62 ⑪ 624 ÷ 8 = 78

② 915 ÷ 5 ＝ 183 ⑫ 771 ÷ 3 = 257

③ 434 ÷ 7 ＝ 62 ⑬ 595 ÷ 5 = 119

④ 944 ÷ 8 ＝ 118 ⑭ 388 ÷ 4 = 97

⑤ 438 ÷ 6 ＝ 73 ⑮ 612 ÷ 4 = 153

⑥ 148 ÷ 4 ＝ 37 ⑯ 963 ÷ 3 = 321

⑦ 116 ÷ 2 ＝ 58 ⑰ 772 ÷ 4 = 193

⑧ 352 ÷ 4 ＝ 88 ⑱ 620 ÷ 5 = 124

⑨ 475 ÷ 5 ＝ 95 ⑲ 489 ÷ 3 = 163

⑩ 110 ÷ 5 ＝ 22 ⑳ 930 ÷ 2 = 465

(3けた)÷(1けた)の暗算
年 組 名前

/20


